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The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Illustrate the answers wherever necessary

1, Answer any five questions : 4 x5

(a) No man is above law' — Discuss.
(b) What is a quasi contract ?

(¢) Who is a holder in due course ?
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(2)

(d) Distinguish between fraud and undue influence.

(e) What are the grounds of dissolution of
partnership firm ? '

(/) Who can accept a bill of exchange ?

(g) Define 'Factory' as per Factories Act, 1948.
(h) Write a note on Composition of Tribunal.
(i) Goods are of three types, what are these ?

2. Answer any five questions : E8x5

(a) "No consideration no contract"” Is there any
exception to this rule ?

(b) State the grounds on which the court can
order compulsory winding up a company.

(¢) Distinguish between void and voidable
agreement,

(d) Partnership firm must be a registered firm.
What are the consequences of non-registration
of partnership firm ?

UG//BL/H & G/C/19 ( Continued )



(3)

(e) Staté the features of Consumer Protection
Act 1986.

(/) "Noseller can give the buyer a better title |
than he have has." Discuss.

(g) What are the restriction stated in the
Factories Act, 1948 regarding employment
of women workers ?

(#) Write notes on :
(/) Manufacturing process
(II) Worker.

(/) When a Negotiable Instrument Considered
to be dishonoured ?

3. Answer any ftwo questions : I5x2

(a) What are the provisions regarding health of
workers as per Factories Act 1948 ?

(b) Discuss the power and duties of the directors
of a company.
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(c) What is supervewing impossibility ? State
the different ways in which supervewing
impossibility may arise ?

(d) Can a minor become a member of partner-
ship firm ? If so, what are his rights and
liabilities ?

[ Internal Assessment : 10 Marks ]
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